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Question No-1

Two straights T1l and T2l intersect at chainage
of (375+12),the angle of deflection being
110°.Calculate the chainage of the tangent points
of a right handed simple circular curve of 400m
radius.






Question-2

Two straights AB and BC Intersect at a chainage
of 4242.0m.The angle of Intersection Is 140°.1t Is
required to set out a 5 ° simple circular curve to
connect the straights. Calculate all the necessary
to set out the curve by method of offsets from
chord produced with an interval of 30m.









Question no-3

Two straights Al and Bl meet at a chainange of
3450m.A right handed simple circular curve of

250m radius joins to t

nem. The deflection angle

between two straig

nt 1S 50°.Tabulate the

necessary data lay out curve by Rankine’s

method of deflection
Interval 1s 20m.

angles. take the chord



Tangent length = R tan % =250 x tan 25° = 116.58 m

T o T
Length of the curve = R X A X T 250 x 50° x 180°

=218.166 =218.17 m
Chainage of starting point, 7, = 3450 — 116.58 = 3333.42 m
Chainage of the end point, 7, = 3333.42 + 218.17 = 3551.59 m .
Length of the chords
There will be 12 chords altogether.

First sub-chord, C; = 3340 — 3333.42 =6.58 m

Last sub-chord, C,, = Chainage of T, — 3540 = 3551.9 — 3540 =11.59m
C,t0Cy;, =20x%x 10=200 m

Solution

6,=1719 x C{/R=1719 x 6.58/250 = 45’15” = A

1
6, =1719 x C,/R = 1719 x 20/250 = o E31”

Hence, Ay =8,+A,=2°17"31" + 45°15” = 3°2746”
A3z =03+ A, =2°1731" 4+ 3°246” = 5°20°17”
Ay =04+ A3 =2°17"31" + 5°20/17” = 7°37748"
As =085+ Ay =2°17"31" 4+ 7°37°48" — 9° 55 19"
Ag=0s+ As=2°17"31" + I = 12°12750”
By =84 A= F°17°31~ 4 12°12°50” = 14°30°21”
Ag =gt Ay =2°17"317 14°30"21” = 16°47’52”
Qo =854, =TT + 168477597 19°5:23"
210 ” gm + 489 =2°17"31" 4 190523~ _ 21°22'54"
S T e TR
12 = 1719 x 11.59/25¢0 — 1°197 42~
e 2 fs‘i  OE A o g
oy -~ % 2 % o (appro*-)

which is as should be.



Question 4

It Is required to set out a curve of radius 100m
with pegs at approximately 10m from Centre.
The deflection angle i1s 60°.Draw up the data

necessary for pegging out the curve by each of
the following method.

(1)Offsets from long chord(ii)chord
bisection(i11)Offsets from tangent
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